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2 2 22 4 3 3− = − = =   

     3 3 3=  .  

              :   

2 2 2 2 24 4 4 0− = − = − + =   

2
2 1 2 4Δ

− = = −   

   ) 2-   :  118  119(
----------------------------------------------     

19- »3«) (
           :  

3 2

3 2
3 0

3 0
− + <

=
− ≥

   

2

2
3 6 0

3 6 0
− + <

′ =
− ≥

    

              .   
 ′′   :    

06 6 0 6 6 0 16 6 0
′′ =− + <

′′ = ⎯⎯⎯⎯→ − = =
− >

   

1=                  
 ) ′′  (0=    0=        

   .   0 0  1 2−      
2= −       .  

2 0 2= − = + = −   
   ) 2-   :  131  136(

----------------------------------------------     

20- »4«) (
         :  

)1           (3 3 27 27 3 1− = − + − = − − =   
 :              

4 3 3 2 24 3 4 3′= + = + = +   

)2                 (3 0 12 3 0 4′ − =⎯⎯⎯⎯→ − + = =   
)  1)  (2   (  :1=  4=  .   

4 3 24 4 3′= + = +   
12 2′′ = +   

   0 0  2 16− −        
              0=  

16 16= +        .1 0−   .    
   ) 2-   :  131  136(
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21- »1«) (

1
1 1

1 11 3 3
1 2 1 23

3 3

−
−−

= =   

1 1 12 3 3 31 2 1
3 3

−α + β α α = −
=

−α α + β β =
   

1 31
3

β
= = −

α −
   

   ) 3-  :     22  23(

----------------------------------------------      

22- »2«) (

  :  

1 1 1 1 1 1

1 1 1 1 1 1

− − − − − −

− − − − − −

= =

= =
   

1 1

1 1 1 1

− −

− − − −

+

= + = +   

1 1 1 1− − − −= + = + = +   

   ) 3-  :     22  23(

----------------------------------------------      

23- »2«) (

2 1

2

10 1 1 += ⎯⎯⎯⎯⎯⎯⎯→ × −³»j  oõw  ¼e  ôvM   

2 2 2 3

3

2 1 3 1 10+ ++ × − + × − =  

1 2 2 3 3 10 3 6− × + × − = − =   

2 2= − − = −   

   ) 3-  :     27  31(

----------------------------------------------      

24- »2«) (

  4− =  10− =        

 .        

10 4 6 3 22 3 2 21 1 2
−

= = = =
+

   

     7− =   :  .     

  

11 37 3 3 22 2
41 1 2 2 2

−
= = = =

+
   

2 2 23 2 3 2
2 4

Δ
= +   

2 18 18 3 18 9 6
4 16 16 16

× ×= − = =    

3 6 3 624 2= = =   

   ) 3-  :      40  46(

----------------------------------------------  

25- »4«) (

                

      .           .   

  

3

10− = 112 2 11 2− = − =
7− =

4− =
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2 4 2 2 2= =  :  

           2 2   

2 22 2 8− + − =                .

=       :            

2 2 2 22 2 8 2 2 8 2 4− + − = − = − =
=

   

4 4 4
2 2

0 0 0

=
− = ±

=
IÄ   

   ) 3-     :  47  48(

----------------------------------------------      

26- »1«) (

  
00 0

1 2 45 90′= = =   

2 2 2Δ
′ ′ ′+ =   

2 22 2′ ′+ − × =   

2 22 4 4′× = −   

2 2 22 2 32′× = − = =   

1 162′ ′= × =   

   ) 3-  :      47  50(

----------------------------------------------      

27- »3«) (

             3 6      

1 2−                

  :    22 4 1− = +     

 3 6  :        
26 2 4 3 1 1− = + =   

          1   .     
   ) 3-  :      52  54(

----------------------------------------------      
28- »2«) (

2 2+ + = + = − + = −    
2 2 2 22 2+ + = + −   

1 4 2 16 9 2+ + = + −   
2 2 20 10+ = + =   

   ) 3-  :  77  80(
----------------------------------------------      

29- »3«) (

  
1 1 9 11= + + =   
4 1 25 30= + + =   
1 4 4 3= + + =   

               .  
1 1 1 1 3 2 1 52 2= × = − − × −   

1 64 1 9 748 1 32 2 2
+ += − − − = =   

274 1 74 74 37302 2 30 1530
= × × = = =   

 ) 3-  :  81  84(
----------------------------------------------      

30- »4«)  (
     :       

4 2 5
0 2 0 1 0 2

1 3

− +
× = = =

−
   

             ××  
×   .     

2 0 1 2 7 4
1 2 3

× = = − − +
−

   

   »4 «     .          
   ) 3-  :  81  84(
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31- »3«) (

 :       

                      0 ≤ <                  = +    
55 2 1 57 1= + − = −   

560 0 2 1 55 1 2 56 1 282≤ < ≤ − < ≤ < ≤ < =   

  1 57+ =         .    

28 26< =   
14=  57 1 57 26 1 1481= − = × − =   

   )  -  :      14  15(
----------------------------------------------     

32- »2«) (
             :  

3 2 22 3 2 3 2 3 5× × × × = × ×   
1  (    2       2     

   .    
2  (   3  .  
3     (          5      

  5   .  
4  (          5  .  

   (  )      2           
    10  5    .     

   )  -  :      13  14(
----------------------------------------------     

33- »4«) (

  :  ≡
≡

≡
     

7 7 7
7 12

12 12 12
3 3 5 7 38 38
2 2 3 12 38

≡ ≡ + ≡
≡

≡ ≡ + ≡
   

84
38 84 38≡ = +   

11 11 11
0 84 38 0 4 5 0≡ + ≡ − + ≡   

11 11 114
4 11 14 5 16 4÷

=
≡ ≡ ⎯⎯⎯⎯→ ≡   

  4=         11      
   .  

4 84 4 38 374= = × + =   
3 7 10+ =      

   )  -  :      18  22(
----------------------------------------------     

34- »4«) (
            :    

9 9
9 11 625 11 625 2 4+ = ≡ ≡   

92
2 9 1 2 9 2÷

=
⎯⎯⎯⎯→ ≡ = +   

9 11 9 2 625 9 99 603+ + = = − +   
11 67= − +   

670 11 67 0 11 0 620 9 2 0 9

∈
> − + > <

⎯⎯⎯→ ≤ ≤
> + > > −

   

    .              
   )  -  :      26  29(

----------------------------------------------     
35- »3«) (

     1      6  .  (  )
 :                 

  
   2        :     

     (55 6         

 2      1  6:      6 152 =   

     (5 6     2   :    
6 5  5 6  :   

   17    2    .  
   )  -     :  38  44(

----------------------------------------------  
36- »4«) (

  1-    14        .   γ   
                 

 7γ =      .          
              :2′γ =  :  .

7 2 9′γ + γ = + =  .    
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   )  -     :  37  44(

----------------------------------------------     

37- »1«) (

       8     4       

    .     

                

                :  

−− − − − − − − − −   

9              4  

            :  .     

9 9 8 7 6 1264 4 3 2 1
× × ×

= = =
× × ×

      

   )  -  :  56  59(

----------------------------------------------     

38- »1«) (

  1 2 4=       :  

2 4=  1 1=    :  

2 1=  1 4=    :  

2 2=  1 2=    :  

               :  

3 4 3 41 4 20 15+ + + = + =  :    

15 2 1 17 162 1 1
+ −

= = =
−

         

3 4 3 44 1 20 15+ + + = + =    :  

16=          

3 4 3 42 2 20 16+ + + = + =    :  

16 2 1 16 172 1 1
+ −

= = =
−

          

16 16 17 49= + + =          

   )  -  :  59  61(

----------------------------------------------  

39- »2«) (

 3     1           )3   (

      4             

   7       3         

          8       

 .      

  
3 0 7 8
4 4 3 2 96× × × =    

 96              3 3 

   .  

   )  -   :78(

----------------------------------------------     

40- »3«) (

        3   .   

          2   .   (   ) 

         8   .        

 
2 2 2

2 2 2 8× × =
S²Ie S²Ie S²Ie

     

                

                 

  .  (     )   8      9 

                      

   .         

   )  -  :  79  82(
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41- »1«) (

      .        

 :    

        (-         

   .0=  5=            .  

      .        0=   

     5=   .        

            (-   

  .  :    

10 5 16 0 16 3 210 5 5 5
− −= = = =
−

   )5  10 (     

     (14=         0= 

     .   5=         

  .      

    (5  12          0>  

    0<   .       

        .  

   ) 3-     :  1  13(

----------------------------------------------      

42- »3«) (

         10=      

                  .0=   

10=       5=      10= 

 10−        .    :   

10 0
2 2

10 10 2 210 0 10
− − −

= = = − =
−

    

                    .

      -              

                     

   1  2   :       

  

1 2 1 2
5 10 10 10 752 2

× ×= = Δ + Δ = + = + =    

75 515= = =
Δ

   

   ) 3-     :  3  13(

----------------------------------------------      

43- »2«) (

                   

    :        0 2= −   

  
)      :    (      

     11      .  :     

01 2
0 6 3 6= =−

=
= + ⎯⎯⎯⎯⎯⎯⎯⎯→ =   

1
2=   

     6   1   :     

0 02
0

1 11 362 2
=Δ = + ⎯⎯⎯→ = × ×   

3
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2
1

18=   

   :   -        :  

2

0

1
18

0 0
1

18
=

=
= + ⎯⎯⎯⎯→ =   

   :     1
2

1 1 92 18=
= ⎯⎯⎯⎯→ = =    

          :   -  

             :  

2
2

1 2 61 12 2 01 1236 2
36

=
= − =

⎯⎯⎯⎯→ − + =
=

=

¡  ¡
¡  ¡

   

 12=             :  

1 12 2 42= = − =   

  :    4 22 =   

   ) 3-     :  13  17(

----------------------------------------------      

44- »1«) (

        :        

   

   

         :  

)1                      (2 2
1 1 0 1

1 1
2 2Δ = + =   

            :  

)2                      (0 1= + =   

       :  

2 2
2 2 1 2 1

1 12 2 22 2Δ = + = − + −   

)3                    (2 212 2 22⎯⎯→ = − + −    

 :            

)4       (2
0 2 1 22 2 2= + = − + ⎯⎯→ = −   

)   1)  (3 (      :  

22 2

2

11 22
13 2 2 22

×= ⎯⎯→ =

= − + −
   

22 21 2 22= − + − ⎯⎯⎯⎯⎯⎯→nkMoò  ¸ÃÎoö   

2 22 4 4 2 2= − + + −   

2 2 22 3 8 4 8 4 0= − + − + =   

2 4 2 3
8 4 0

4 2 3
= +

− + =
= −

¡  ¡
¡  ¡  ù

   

 :4 2 3−           .   2− 

  .            .  

2

4 2 3 2 2 3
1 1

2 3
2 2 3 2 3 2= + = +

= −
= ⎯⎯⎯⎯⎯⎯⎯⎯→ = + − =   

   ) 3-     :  15  18(

----------------------------------------------      

45- »3«) (

       0=  6=      :   

7
6 7 426

=

Δ =
Δ Δ= ⎯⎯⎯⎯→ = Δ =
Δ

   

    .       1 2Δ = Δ + Δ   

1Δ      4     2Δ   

     4  6       .- 

  .              

    4=  :      

0= 1 =

1Δ =

1 2 2= −

2 2Δ =

2
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4 0 0 00 5 4 2= = + Δ = + − × = −   

  

    11Δ  2Δ    :    

2 2
1 2 1 1 0 1 2 2 0 2

1 142 22 2Δ = Δ + Δ = + + + −   

2 2
0 0

1 1 142 4 4 1 2 2 22 2 2= − × + × + × × + −   

0 0 0 042 4 4 2 2 4 48 6 8= − + + + − = =   

 ) 3-  :      15  17(

----------------------------------------------      

46- »2«) (

      1            2 

     :      

1
2

2 241 1 1 1
1 222 222 2

1 1
2 2 4 2 211

22

==
⎯⎯⎯→ = = =

=
    

        .          

2 2
1 2 1 2

1 1135 1352 2− = − =   

210 2 2
1 2 27

=
⎯⎯⎯⎯→ − =   

2 2 2
2 2 2 22 27 9 3− = = =   

1 2 1 22 6 3= = − =   

   ) 3-  :      21  24(

----------------------------------------------      

47- »3«) (

            :      

  

                  

        .         

                

   ) »3 .(«    :    

22 1
2

1

0
0

=μ= =
⎯⎯⎯⎯⎯⎯→ = μ

= =
   

   ) 3-      :  31 45  46(

----------------------------------------------      

48- »4«) (

                 .

 :         

  
30 25 5

2 10
0 = − =

= =
= = = ⎯⎯⎯⎯⎯⎯⎯→   

5 20 4× = =   

  :       

′ ′= − = − =   

5 1 25 6 25
2 4

4 6 25 20 2′= + =

= =
⎯⎯⎯⎯⎯⎯⎯⎯→ × − =   

2
25 20 2 52

−
= =   
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    .             

             .        

1 25            

  :         

2
54 1 25 2 2 52= × = = =   

             1 25= +    

    .    (   )      

   ) 3-      :  43  44(

----------------------------------------------      

49- »4«)  (

 .          

  

00= =   

= − − = − − μ =  

1 1 28 0 2 2 10 2 6− − × × = = −  

2 2 2
1 1 0 1 1 1 1

1 1 6 32 2Δ = + Δ = × =    

           .        

  

== − = − μ =  

2 2 28 0 2 2 10 2 2− × × = =   

2 2 2
2 2 0 2 2 2 2

1 1 22 2Δ = + Δ = × =   

      :             

2 2 1
1 2 1 2

2

33 3Δ = Δ = =   

   ) 3-      :  37  42(

----------------------------------------------      

50- »1«) (

2 1 1 1

2 1

3 1
4 4

16

= − =

=
   

2
2 22 2 1 2 1

1 1 2 1 1

1
2 4 16= = × = ×   

2 22 2 2
1 1 1

1 1 4 24 16= × = =   

   ) 3-      :  46  48(

----------------------------------------------      

51- »4«) (

                     

1 5   :               

3 2
4

2 2 3 2 34
π= =

=

π × ×
= ⎯⎯⎯⎯⎯→ = =   

      3    1 5           

  (  ) .          .    
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2 1 2 1 2Δ = − Δ = − =   

2
2 21 2

4

42 2 1 162
= = =

=
⎯⎯⎯⎯→ Δ = ⎯⎯⎯⎯⎯⎯→ Δ = × × =   

   ) 3-      :  48  53(

----------------------------------------------      

52- »4«) (

                :  

= +   

1 1
11 36
25 25= + = + =   

2 2
47 72
25 25= + = + =   

2
1

72
25 236
25

= =   

  .              

2 1
1 2

1 2
2 2= = = =   

                  

   :        

2
1

23
3 32 2 2

1 1 1
2 2 2 2

=
= π = ⎯⎯⎯→ = =   

   ) 3-      :  53  56(

----------------------------------------------      

53- »2«) (

        = +       

-     = ω    .  

2 2 0 4 6 0 065
π πω = = = π = =   

0 06 0 4= ω = π   

5 10 06 0 4 0 06 0 033 2= π × = × − = −   

     5 24 3 4< <               

                 

      .   

  

   ) 3-    :  62  64(

----------------------------------------------      

54- »2«) (

        .  

5 3
10 1 4
=−

= =
= ω ⎯⎯⎯⎯⎯⎯⎯→   

35 3 10 1 4 1 4 2− = ω× ω = −   

7 31 4 2 56 6 1 2 1 2
π π πω = π + = ω = = =   

 :  .             

0=
= + ⎯⎯⎯⎯⎯→ =·Iw¼º  q¨o¶  nj   

2 2 21 1
2 2ω = = ω   

10 0 1
2 5

10 1 2 5 0 25 4
= =

ω=
⎯⎯⎯⎯⎯⎯→ = × = =   

   ) 3-    :  63  67(

----------------------------------------------      

55- »2«)  (

22 1 2 2
1 2 1 1

2

2
= +

= π
= = = ⎯⎯⎯⎯→

=
   

https://konkur.info



  » 28  1403«   16  

2
1

32
2

+
= =   

   ) 3-  :     67  68(

----------------------------------------------      

56- »4«) (

                :    

  

3
2 2
λΔ = λ + = λ   

3 0 9 0 62
Δ = Δ Δ Δ

= = =
λ = λ

   

1 10 5
6 3= = =   

   ) 3-    :  70  72(

----------------------------------------------      

57- »2«)  (

        1 3= 2 5=   .     

  

2 2
2 3 4 5= + =   

             :  

2 21 2
1 2

2 1

510 10 10 3β − β = = Δβ =   

1020 5 3 20 0 52Δβ = − = −   

20 10 2 0 5= − −   

20 1 0 3 0 5 4Δβ = − − =   

   ) 3-  :     80  81(

----------------------------------------------      

58- »4«) (

                 

        .          .   

   ) 3-   :   83(

----------------------------------------------      

59- »3«) (

              1   

      2   :          

  

1 1 1340
1 1 1 1

40
2 340 40 2= × =

=
− = ⎯⎯⎯⎯⎯⎯⎯→ − =R¼Å   

)1                  (1 150=   

2 2 2340
2 2

40
2 1700 = × =

=
+ = − ⎯⎯⎯⎯⎯⎯⎯⎯→R¼Å   

2 2 2340 40 2 1700 190 1700+ = − = −   

)2           (    2
1700

190
−=   

            :      

1 2
1 2

1700 34 15 1700150 190
−= ⎯⎯⎯⎯→ = =   

750=   
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 :                

1700 1700 2 1700 2 750 200′ = − − = − = − =   

   ) 3-     :  92  93(

----------------------------------------------      

60- »3«)  (

  :       

0 0 0
1 90 60 30θ = − =     

0
2 53θ =    

       :    

0
2 2 2

01 1 1

53 0 8 8
0 5 530

θ
= = = =

θ
   

    Δ=
Δ

      .Δ     

    :  .  

2 1 1
2 1

1 2 2

8 5
5 8= = =   

 ) 3-     :  96(

----------------------------------------------      

61- »2«) (

4285 285 2282 2 0 4 5= = = × =
×

   

= = =
μ

    

1

3 2
0 4 4 10228 20

20 10 2 10

−

− −
× × ×

= = =
× ×

  

20 228 228 2599 2 2600= × =   

   ) 3-    :    105  107(

 ----------------------------------------------      

62- »3«) (

                :       

= =
= =λ

λ λ=
   

22 34

8 9
3 2 10 6 6 10

3 10 660 10 24

−

−

= × = ×

= × λ= × =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→   

22 34 8

7
3 2 10 6 6 10 3 10 400

6 6 10 24

−

−
× × ×= =

×
   

   ) 3-     :  117  119(

----------------------------------------------      

63- »1«) (

  =
λ

       λ     

   λ     :       

2 2 2 2
1 1 1 1 1λ=

= − ⎯⎯⎯→ = −
λ ′ ′

   

4 1 1
16 16

′ =
= =

= ∞
    :  

1 1 312 4 4
′ =

= − =
=

   :   

1
116

3 12
4

= =   

   ) 3-  :      123  124(

----------------------------------------------      

64- »3«) (

    :  

1    (12
6  6    13

6  7  .  

2  (             

   .  

3  (                

   .  

4 (    )  (     

   ) 3-      :  138  140(

----------------------------------------------      

65- »2«) (

 80         20  .       

0
0 0

1 20 1002 52 100 202
= = = =   
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2 5 2 5 2 5= = =   

105 10 2 1 0 3 0 72= = − = − =   

3 7 72 5 10 10 3= × = =   

   ) 3-      :  146  147(

----------------------------------------------      

66- »2«) (

                    

    :  

=                               0
1
2=    

 1  2               

 2  3   :    

1
11
1

2 2 0
1 0 1 02

1 1
2 2 4

= =

=
= ⎯⎯⎯⎯→ = =   

2
22

2

3 3 0
2 0 2 03

1 1
2 2 8

= =

=
= ⎯⎯⎯⎯→ = =  

0 0 0
1 2 500 500 5004 8 8− = − = =   

0 4000=   

   ) 3-      :  146  147(

----------------------------------------------      

67- »3«)  1401- (

               

 :               

124 124
53 52

124 124 0
53 52 1

= + =
→ +

= + = +
   

 1+= =    

   ) 3-      :  144  145(

----------------------------------------------      

68- »3«) (

  :        

1 .             (   

2 .             (  

          :  

12 4
7 2 1

− +
− +→ + α +   

      12 4 0 3
7 2 1

= − + + =
= − + + =

 »3 :«          

  :            

12 4
7 2 1

− −
− −+ α +   

12 4 0 3
7 2 1

= − + + =
= − + − = − ¡  ¡  ù   

   −      .      

   ) 3-      :  142  146(

----------------------------------------------      

69- »3«) (

     »3 «  .    

   »3 :«  236
92     1210−   

    .   

   ) 3-      :  148  149(

----------------------------------------------      

70- »3«)   - 1401(

       :    (  )  

0
0

0
30 6 4

= −
= −

= −
   

19
0 019

19 0
019

8 10 5
1 6 10 330 6 8 10 3 4

41 6 10

−

−

−

−

×
= − = −

×
= −× × = −

×

    

           :     
0

8
3

=
=

   

   ) 3-     :  116  120(
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71- »2«) (

  :      

 :2 2   / :2 6 2  :   /

57 104 6  :  /8 18  :  /25 52     /

   17  :17 35     

 :      

  (4            (     ) 

     .  

   (       .  

        (     .  

     (          .  

  (2       )          (

  .      

   ) 3-      :  4  6(

----------------------------------------------     

72- »4«)  (

         .   

     :  

1 (     .          

         .   

2      (         

 .        

3      (  )    ( )   (

        .         

   ) 3-   :      6 12  13(

73- »3«) (

      :  

 »1 :«                

       .            

          (!   )    

 .       

 »2 :«           2     

            .    

 »3 :«              

                 .

   .         

 »4 :«               

        .         

   ) 3-   :      20  24(

----------------------------------------------     
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